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52

-

APy

SANSKRIT
37ary: : ERIEATY quIfT: - 80
RefRa aqa - 3 g2 HerBaT 37 - 80
Time allowed : 3 hours Maximum Marks : 80

1 [ P.T.O.




Wus: & :
SECTION A :

ovs: 9
SECTION B :

oue: T :
SECTION C :

wue: Y :

SECTION D :

EENIE

Instructions :

ST - TSI (3TafSars STTae)

Unseen Reading Comprehension

TIATCHS Y (TEHTeHS T )
Writing Skills

ATIIHSATHTIH (SIS SAThTT)
Applied Grammar

gfed-TasieTy (afed-3Eare)

Reading Comprehension

(i) 31T JF7IF TedR: GUST: G~ /|
S YH-TTH TR GUEE |

The question paper has four sections.

(ii) FEH GUSH ITTUHT IR UHIGT T FHHT G111 |
Y% @S & IR U &) T W HH & o7 817 |

The answers to each section must be written at one place.

(iii)  FFTGEIT FITTAFTRY HTFTHT TGH1T |

o7-TF @ SJTR Jo7-G&IT 3797 & for@1 &1t |

Write the question number according to the question paper.

(iv) GV FoT IR G&paT AGHIT |
Y 3971 & IR G 7 17T |

Answer all the questions in Sanskrit.
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Qug: — %
SECTION - A

SRS TS, (SRS Faae)
Unseen Reading Comprehension 10 A

FrenferRaan g afdmn Teawe H&had 3T |
FrfaRad 3Tg=ee i Teeht feu T T o IO HHhd | T |
Read the following passage and answer the given questions in Sanskrit.

iR T e sreifoadfa: wht g W SHgE SRR w1 d gean
HERIG, STFT=8- HheeH ga1 YSaT — Wl FeAE | a9 3T SR srefifaastar sded |
T & T I¢1 Ud & BellH g, et o Sifaar 7 wiosafy | 31a: femem 3w
fIvhet TamE KU 7 § Ig: IFdH — T Ay 3at: STAHET J&mT et Qe |
HATTY STRIIAHT, TN J&T07 BATH SRl Tiehl: WIey: — Sded™ 3T8q TauH
ST HAUTH | T ALY hare] Tneffe=i 7 shaeam |
TRAT .

[ U9 |
Teh &G H I ST |

Answer in one word. ax4=2
(i) Y= JA1 Hd: TS T ?
(i) AT haed foh = Shaedq 7
(iif) “T%: 3L %: qATIISG: 3T WIaT: 7
(iv) ga: sy foodianefss g fom ?
I qulemeRARRd |
ot gt | I €T |
Answer in a complete sentence. 2x2=4
() T T foramd garomy s wifa w7
(i) T 5 fope sr=en 7

3 [P.T.O.



[ Yeaideheus: 3faaq I faca fored |
few e foepedi § @ 3 3or g fatfa |
Choose and write the appropriate answer from the given options. YVix 4=2
() ‘omiafd = 3fa Sramew wgug fe ¢
() I
@ s
(m &
(F) T |
(i) wmEm’ e fob forom 3@ ygem 7
(F) TR
@) frwag
(M I
(%) | |
(iii) ‘TG T fob qTIIeH 3 Y ?
(F) T,
(@) Iy
(M A
(&) Far|
(iv) I8 s foh feretimae 3 wgiy 7
() Sifea:
(@) Ih:
(M) Fa
(&) T |
IV. 37 AT Hd IUZH ek TEhc forerd |
30 TS o (7¢ Iuger Sfefeh Teepel  feffige |

Write the appropriate title for this passage in Sanskrit. 2

4
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wle: — 9
SECTION - B

TEATCARHI, (THTHS -
Writing Skills 15 g
Tt ufa forRaay o19.93 meTvEeTes: T 1 fored |
Tt @t forg e fferRaa o= ot meger # fou 7o sregi <6t Tt & qut ot g fafau |

Complete the following letter, written to your friend, with the help of the words given in

the box and rewrite the same. Y%x10=5
frmermmg
TRt ot |
U (i) |
379 99 wH U | a9 Adarfehiaden i) 0 | @ 9 wlemiomd i) |
IR, @ (iv) TS | A YT WEgGH | (v) I e
vi) | e femurdr wafd, qer 9em: SeAaE:, UM Waduies: Sesiidr: 59
(vii)  wiE=d | o fafimme: (vii) . T 58 3T TS | 9H g
& (i) e vEen alasi| | TR @ T SIS | TR e T
TS (x) |
T TfTgeat
fSrerere
AW

e, wicet:, g, TH-T:, T, 3, T,
FrTerd, ey, ST |

5 [P.T.O.
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Y e T uaT AR YeasegT HIgT U Jrer Tehdd foed |
= feu 7T o= <1 i wep # fou e wreqi <At HERIaT § Ui §5hd el | it |

Describe the following picture in five Sanskrit sentences with the help of the words given
in the box below. 2x5=10

1Y, AUGAH, TEH, STeT, T, 9, J&:, Haal:, ffetean, s1em, iy,
3IgH, 3=, gmafd, 959 |
HLET/OR
HYWTIEATeGHI ATgr Fefaifad fowem stfrercy gt Teapaaret: Ty 31g=es forad |
T ¥ feu Tu wreg] Y werar @ frefeiad fawe W ute weepa areRil # U 3R ffa |

Write a paragraph in five Sanskrit sentences on the following topic with the help of the
words given in the box. 2x5=10

“waaar-feaq:’
HI
ST, TG, SreehiicTeh A==, TEI9ANE: , THE=IH,
TERAGHITER,, TS, WA=, forerRism=T:, JTdreRv,
TSI TSI, SATETey, 3RS, Temaiey |
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Qug: — T
SECTION - C
ATIIHATHIH (T SATH)

Applied Grammar 25 I

FUIfRgaaTRy Wifgauey A ai-a=eg a1 el fored |
Trfafiaa are o t@ifera et d afr steren afufaeae % fafigu |

Write the underlined words of the following sentences after joining or disjoining

Sandhis. 1x4=4

(i) 3T ARHI A + 31: &: 3 ?
(i)  Helgdl: HU: e |
(i) A TH: Teh + B TIH T |
(iv) T Al Hoa |

FYITARgqaTRY WWTgaueHT THTE fourg a1 Seafaesneus: famn foeq |
frferftaa amerit & t@ifed el 1 qum 312 fourg feu mu fasredt & & gem fafw |

Choose and write the correct compounded or expounded forms of the underlined

words in the following sentences. 1x4=4

() 3TE TP o HEha gy F-HARIE: ST |
(i) Tgfafam
(i) TgdETEA
(i) Tgafayead |
(@) el 3 7 R |
(i) THA
(i) 3+
(iii) B/d + 7 |
() Arar-Tet gorRr ghetnyTeH TS |
() T =
(i) @ = fUar=s
(iii) T = el = |

[P.T.O.



(F) Tag TR0 A T AW 1M |
(i)
() ®I=g feRe
(iii) 3TTEIH |

e forer |

Frrferfiaa STl i iR TS % R S Y S A 9o Hh I I
forhedi § § gt feafa |

Write the underlined words of the following sentences after joining or disjoining

suffixes to the roots or words, selecting the correct answer from the options given
below : 1x4=4

(%) AU TAg 3T THAY 7 9 + IS + T |
(i) sEHEY
(ii)  SrEeRTe,
(iii) SFH |

(@) AT ST 50T = i |

() =9 +TQ

(i) =9 + &
(i) =9 + 3T |
() AT Heiw Hgwel e |
(i) ¥Wed+™
(i) HEM + =
(i) T&d +q |
(a) G S: Sleh TOWe J UTCAI |
(i) & +7q
(i) & + Fag
(iii) & + I |
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FreNfeiRad Hare wem Ve Ue: areuiad- el R 9 3 forwd |

Ffeifad garg ! AW ¥ fou MU wreg) i TERIAT ¥ Ao UiEdd i gU aEgu

TaTE H: fetfey |

Fill in the following dialogue by choosing the right words as per rules of voice.1 x 3 =3
Tirer: — o areirR: TS waf 7

o1 - 3T, SR () " |
et — fob feawr: sremues FoeRufa 7

37Meh: — 3T, (ii)

L THERI |

Tarereh: — fob @ 1T SO Sertt AR ?
BA: — 3, 7Y HEAT SO el (iii) |

enferiaafeT=aran fedeerm serieshemee: = |
Frenferfad feerat & e wormi <t qfd reraiee wrsgi | IR |

Rewrite the daily routine using Sanskrit words in place of figures.

A

R, T, wre: |

() W YT 9T 5.00 yHone s |

(i) 378 UTd: 8.30 AT TS |

(iil) @ AT HEATR, 2.00 ferner™mg SrTesid |
(iv) HH Seh: | 7.30 T8 A |

renferRaaarsrRry fereermri aemEme: 3fuq: srerde: R fored |
frefafaa arerit ® fra weri 6t gfd e # feu o svem vl < grr i |

YVox 4=2

Fill in the blanks in the following sentences with appropriate indeclinable words

given in the box.

() Trwm Tt sy 2
(i) 9Tq: TeA: T, EHERS N
(iil) &: ¥ g o Feheum 3R |

(iv) 3T3ET: JUET

YT |
kAl

3a%dd:, 3, 3=, gEIfa

9

1x4=4
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FUfTRgqaTRy W@Tfgaued 3REH 31 | 3G Ug Hened 3H: foreq |
frefafiaa arerit § W@iferd ug 3G 7 | 373G TS I TR Kt H: fafau |

Correct the underlined incorrect words in the following sentences : 1x4=4
() g STforeh faemer™ mT=sfd |

(i) TorH 378 Hel GEohT TG TTesTH 7

(iii) st ymomed va: 7 T=sfd |

(iv) o wrepren e a: st ?

wue: ¥
SECTION -D

gfea-Taaieay (Jfsd-TasieT)
Reading Comprehension 30

FUNTARGA T, T, AT & qfSca FEaIeHH I Tehad for@d |

Frferfaa e, Te 3TR 1T Sl Ugeht U T Je1 o 3T T%hd § fAf |

Read the following prose, poetry and drama passages and answer the given questions in
Sanskrit.

(37) T
TS 3 — WTeH, | WaHRY TR AT STTE S, $eaiy | STfevadn —
fh speafor 72
faw: 3am= — afe war fia: de1 =: TR 9y g SSuIH, 39 HH ARhATET et
WA | T, Yo T S, — olich e gehtH T | T, T3 G, $e0, 3T
Ireh: KT Ifa: @ITq | 312raT wag A | 3fa fommd e sty — ot i 1 feRneRa
TEINT | 378 YaId TGIHT TSI |
T3
I TeUcH 30 |
Teh 3G H IR ST |
Answer in one word. 1x2=2
() T TG gohtHa” 3fd : fe=aaq ?
(ii) TS 9 SFFTEN HgH T 7
I ofareH 3T |
ot areRr | I €T |

Answer in a complete sentence. 2x1=2

forwr: T fopy SartaT ?

10
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I1I.

(3) wEm

Y fdeheds: 3faq I faen forad |
fou U foehedt # @ 3fua I g fetfau |
Choose and write the appropriate answer from the given options : % x 4 =2
(%) 3D TAHAET oo foh feromomy
() Ha:
(i) frat
(i) =TI |
(@) 3ar= 3fa foramrew sque Ty 7
() faw:
(i) =
(iii) T |
(M) qa s fob foemueH 313 Y& 7
() wed
(i) #|
(iii) ferw: |
(F)  “TH ARIEAT S AW 3fel TG, Hell TR, ?
(i) T
(i) faum
(iii) B |

T2 f& #9: 07 | ST Sagged |
FETE I8 7= S gk ||

JRHT:

L

IL.

Tehued 3T |
T T8 H IR AN |

Answer in one word. 1x2=2
(i) o FIEH 3T9H: Ggohl HYAT ?

(i) = fopm Afeq 7

qufaTeRH I |

quigTeRt B I T |

Answer in a complete sentence. 2x1=2

T Shigem Wafd 7

11 [ P.T.O.
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I1I.

Yetdehede: Ifaq I faen foad |
fou Mo foeredt & @ 3fa 3w g fotfau |

Choose and write the appropriate answer from the given options. %2 x4 =2

(%)

(@)

()

(=)

(3)

yetioh “3ifaepfeT’ scad fob wartarag Wy 7

(i) =g

(i) ST

(iti) GTH |

TR 3f TRATIER Hug fm ?

(i) P

(i) T

(i) 3789 |

‘3TEY’ 3fer TG HEl T ?

(i) #fpem

(i) ST

(iii) W |

Tery e foh foretiadey 3 wgeH ?

() A

(i) geq

(i) ==e |

AT

femiy: — 318 Tty o arew: Qi wEiE: | 3R ST wEyYHy
30 o3 TN | 37d: ITEUREE Ye: IEUE: |

AT — e | Sfad e | emfadssrs: Rty gareayi:
I | 37q: TRV | AT TS TSGR T YaEid |
fagen = @ wwEwE | SHmdE g ™ @

TF | QST |G G T TG | TEEaU JHe 3T
TR hae Yehfd: UF 7 fafaen 7eeT 9 yogq ewhia: MY |
12
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IL.

II1.

ThUH 3L |

Th 91sg | IR T |

Answer in one word. 1x2=2
(%) AT T i T2 Ta8i= ?

(@) o T FEIYTH 37 Te¥ T ?

qufaTeRH 3T |
oot aTeRT | 3T T |
Answer in a complete sentence. 2x1=2
3T TCH: ITEUITAA: Pel: B ?
Jedaehed s Ifaaq I faen foad |
feu e foenedi o @ 3fad ST gAew fafm |
Choose and write the appropriate answer from the given options. %2 x4 =2
(%) et 3f fopamaee sque fom 7
(i) femm:
(i) oFeATreehr
(iii) ShIS: |
(@) feaer™ g9 foh watey 3 ey ?
()
(i) Temfs:
(iii) @a: |
() g seore fop foretmaey 3 e ?
(i) wie;
(i) T
(i) g |
(1) 37 HId T g I S TG Hed TFH 7
(i) ™
(i) SIS
(iii) 3TEUTEATH |
13 [ P.T.O.
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T@Tfgd Ugl @ 3MER T g9 famior hifs |

Frame the questions on the basis of underlined words, 1x4=4
(i)  ToRE STV 6 Ueh =7g: ferfead |

(i) Sferersr: R T v |

(iii) &&= ! Sraefife: sre: TESHTE: |

(iv) I e HAH FEaan weE |

HuTd: Tgfaauert facn srafaRadeetiergae 39 T |
A H B goferd ug ARt Feferiad Sl wellehi o 37 sl quf shifvg |

Complete the prose order of the following twe shlokas by choosing the appropriate

words given in the box. v x 8§ =4
(i) SIeMIdied 3: TG Teh TIoRfereqone |
HIhILETE o7 € Jo: T &I ¢ ||

FR: —F: () W (i) 9™ g ud (i) el &
(v g% @ gelt (vafd) |
(i) o :EerE: | 9 ag dd A e |
e anfd T e, e Fussie ||
FaE: - fEweE: () w w3 (i) ded | deEe (W)
(i) w@aGv)_ (am) FudeE wald |
A

ITEHHY, T, AT & IEH, AigH, FHemam, Shafamienndg, e, Hmshagyad |

14
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srenferRadenemTT wgfd wie fasheter: e forga |
frafefaa st 1 agfad wa fashedt & g foafae |
Choose and write the correct gist of the following sentences from the given options.
1x4=4
(%) TR < Igd q9 3o |
(i) wfEe
(ii) =Ry
(iii) STHIFM |
(@) YIS el < TEYT U AT |
() HIgH F=1
IEL
(ili) ¥ |
(1) GHT: GIe i T T Aefe |
(i)
(i) uia:

(iii) wvE: |

(9) el 6 gd: CoI: Wsh: IUE: |
(i) =
(i) =
(iii) freay |

15
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